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m/s2
N
m/s2

N
N

310,0 kg
250,0 kg

n [U/min]

6000
354 °C
36,8 °C

%
1014,5 hPa
23,0 hPa
89,0 °C
- °C
60,0 kg

40,1

rot-Gesamt-HA
mrot-PrUfstand-HA
rot-Fahrzeug-HA

2-HA
Frot-Gesamt-HA
m

m

5000
TUmgebung
TAnsauquft
HLuft
Prutt
pDampf
Toi
TKraftstoff

IR
I:1-HA
AHp
F

m/s2
N
m/s2

N
N

310,0 kg
250,0 kg

60,0 kg

4000
Umgebungsdaten
Umgebungs-Temperatur
Ansaugluft-Temperatur

Relative Luftfeuchte

Luftdruck

Kraftstoff-Temperatur
Rotierende Masse

Dampfdruck
Ol-Temperatur
A1.va

I:1 -VA
Frot-Gesamt-VA
mrot-Gesamt-VA
mrot-PrUfstand-VA
mrot-Fahrzeug-VA

Ava
Fova

3000

km/h
- U/min

km/h
-—-— U/min
550 %

74,5 kW

! 262,6 kW

[ 257,0 kW
/ 182,5 kW

/

5545 U/min/ 185,1 km/h

551,17 Nm

2000
5795 U/min/ 190,9 km/h

3635 U/min/ 121,4 km/h

2481 PS
Vunbelastet
nunbelastet
Wollast
Nyollast

3494 PS
Pschiepp  101,2 PS

357,0 PS
0,00 %

F)Norm
F)Mot
PRad
MNorm

1000

Korrektur-Faktoren: Q,

Schlupf

1) Korrektur nach EWG 80/1269
Geschwindigkeit unbelastet

Leistungsdaten
Norm-Leistung 1)
Motorleistung

Drehzahl unbelastet

Radleistung
Max. erreichte Drehzahl

Schleppleistung

Max. Leistung bei
Drehmoment 1)

Max. Drehmoment bei
Geschwindigkeit Vollast
Drehzahl Vollast
Schlupf (Handeingabe)




